
 

  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER 2019. 

Third Year 

Corporate Secretaryship 

ACCOUNTING FOR MANAGERIAL DECISION 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the characteristics of Management 

Accounting? 

 ÷©»õsø© PnUS £vÂ¯À GßÓõÀ GßÚ? Auß 

ußø©PÒ ¯õøÁ? 

2. What do you mean by Common Size Statement? 

 ö£õx AÍÄ TØÖ AÔUøP GßÓõÀ GßÚ? 

 UG-234 BCS-34
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3. Veena Ltd.. submit the following details for the 
year ending 31.3.2018. Calculate net profit ratio.  

 Rs. 

Sales 2,00,000

Gross profit 60,000

Administration, Selling and distribution 
expenses 

25,000

Other expenses 10,000

Income from investments 15,000

Loss on sale of machine 5,000

 Ãnõ ¼ªöhm, ¤ßÁ¸® ÂÁμ[PøÍ 31.3.2018, 

B® Bsk \©º¨¤UQßÓx Cuß Ai¨£øh°À {Pμ 

C»õ£ ÂQuzøu Psk¤iUPÄ®. 

 ¹. 

ÂØ£øÚ 2,00,000

ö©õzu C»õ£® 60,000

{ºÁõP, ÂØ£øÚ ©ØÖ® Â{÷¯õP 

ö\»ÄPÒ 

25,000

Cuμ ö\»ÄPÒ 10,000

•u½mi¼¸¢x Á¸©õÚ® 15,000

C¯¢vμ ÂØ£øÚ°À |mh® 5,000
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4. Calculate funds from operations from the 
following Profit and Loss A/c. 

Particulars Rs. Particulars Rs. 
To Expenses 
paid 

6,00,000 By Gross profit 9,00,000

To Depreciation 1,40,000 By Gain on sale 
of land 

1,20,000

To Loss on sale 
of machine 

8,000  

To Discount 400  
To Goodwill 40,000  
To Net profit 2,31,600  

 10,20,000  10,20,000

 ¤ßÁ¸® C»õ£ |mhU PnUQ¼¸¢x Â¯õ£õμ {v 

|h©õmhzøu PnURk. 

ÂÁμ® ¹. ÂÁμ® ¹. 

ö\»ÄPÒ 

ö\¾zv¯x 

6,00,000 ö©õzu C»õ£® 9,00,000

÷u´©õÚ® 1,40,000 {» 

ÂØ£øÚ°À 

C»õ£® 

1,20,000

C¯¢vμ 

ÂØ£øÚ°À 

|mh® 

8,000  

uÒÐ£i 400  

ÁoP |Øö£¯º 40,000  

{Pμ C»õ£® 2,31,600  

 10,20,000  10,20,000
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5. A project costs Rs. 15,60,000 and yields annually a 
profit of Rs. 2,70,400 after depreciation of  12% pa. 
but before tax at 25%. Calculate pay-back period. 

 J¸ vmhzvß ©v¨¦ ¹. 15,60,000. 12% ÷u´©õÚ® 

©ØÖ® 25% Á›US •ß£õP Auß Bsk C»õ£®  

¹. 2,70,400. •u½k «m¦ Põ» •øÓø¯ PnURkP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the limitations of Management 
Accounting. 

 ÷©»õsø© PnUS £vÂ¯¼ß Áμ®¦PÒ ¯õøÁ? 

7. Explain the different types of Financial Statement 
Analysis. 

 {v{ø» AÔUøP°ß £À÷ÁÖ ÁøP¯õÚ 

£Szuõ´øÁ ÂÁ›. 

8. From the following given ratios and figures 
prepare a summarized Balance Sheet of XYZ Co.  
Ltd for the year ended 31.12.2009. 

 Working capital    Rs. 60,000 
 Reserves and surplus   Rs. 40,000 
 Bank overdraft    Rs. 10,000 
 Asset (fixed) proprietorship ratio 0.75 
 Current ratio    2.50 
 Liquid ratio    1.50 
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 RÌPõq® ÂQu[PÒ ©ØÖ® ©v¨¤ß ‰»©õP XYZ 

{ÖÁÚzvß C¸¨¦ {ø» SÔ¨ø£ 31.12.2019 AßÖ 

u¯õº ö\´P. 

 |øh•øÓ •uÀ    ¹.  60,000 

 Põ¨¦® ªSv²®    ¹. 40,000 

 Á[Q ÷©ÀÁøμ £ØÖ   ¹. 10,000 

 ö\õzx ({ø») E›ø©¯õÍº ÂQu® 0.75 

 |h¨¦ ÂQu®    2.50 

 }ºø© ÂQu®    1.50 

9. A company at present operating at 80% capacity 
produces and sells 40,000 units. Given below are 
the expenses per unit. 

 Rs. 

Direct material 15 

Direct labour 10 

Factory overhead (30% fixed) 5 

Office overhead (60% variable) 3 

Selling and distribution overhead 
(50% fixed) 

2 

Selling price 45 

 Prepare a budget at 60% and 90% capacity. 
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 J¸ {ÖÁÚ® uØ÷£õx 80% AÍÂÀ C¯[Q 40,000 

A»SPøÍ u¯õ›zx ÂØ£øÚ ö\´QÓx. J¸ A»S 

ö\´ÁuØPõÚ ö\»ÄPÒ  R÷Ç öPõkUP¨£mkÒÍÚ.  
 ¹.  

(J¸ 

A»QØS)

÷|μi ö£õ¸mPÒ 15 
÷|μi EøÇ¨¦ 10 
öuõÈØ\õø» ö\»ÄPÒ (30% 

{ø»¯õÚx) 

5 

A¾Á»P ö\»ÄPÒ (60% ©õÖ® 

ußø© Eøh¯x) 

3 

ÂØ£øÚ ©ØÖ® {ºÁõP ö\»ÄPÒ 

(50% {ø»¯õÚx) 

2 

ÂØ£øÚ Âø» 45 

 ÷©Ø£i ÂÁμ[PÎÀ C¸¢x 60% ©ØÖ® 90% 

AÍÂØPõÚ ö|QÌÄ ÁμÄ ö\»Ä vmhzøu u¯õº 

ö\´P. 

10. Project X initially costs Rs25,000. It generates the 
following cash flows: 
Year Cash inflows 

(Rs.) 
Present value of 

Re. 1 at 10% 
1 9,000 .909 
2 8,000 .826 
3 7,000 .751 
4 6,000 .683 
5 5,000 .621 

 Taking the cut-off rate as 10%, suggest whether 
the project should be accepted or not. 
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 vmh® X &ß Bμ®£ ©v¨¥k ¹. 25,000. Cuß £n 

ÁμÄ RÌÁ¸©õÖ. 

Á¸h® £n EÒÁμÄ (¹.) 10% uØPõ» ©v¨¦ Põμo

1 9,000 .909 

2 8,000 .826 

3 7,000 .751 

4 6,000 .683 

5 5,000 .621 

 10% uÒÐ£i ©v¨¤À vmhzøu HØÖ öPõÒÍ»õ® 

CÀø» {μõP›UP»õ® GßÖ TÖ. 

11. Babu & Co. presents the following Financial 
Statements for 2015 and 2016. Prepare a sources 
and application of funds statement. 

Balance Sheets 
Liabilities 2015 

(Rs.) 
2016 
(Rs.) 

Assets 2015 
(Rs.) 

2016 
(Rs.) 

Bills 
payable 

4,52,000 6,28,000 Cash 1,06,000 62,000

Creditors 8,26,000 12,54,000 Investments 1,74,000 –

Loan 
from 
bank 

2,00,000 4,70,000 Debtors 6,92,000 10,56,000
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Liabilities 2015 
(Rs.) 

2016 
(Rs.) 

Assets 2015 
(Rs.) 

2016 
(Rs.) 

Reserves 
& 
Surplus 

13,84,000 17,28,000 Stock 8,64,000 13,66,000

Share 
capital 

12,00,000 12,00,000 Net fixed 
assets 

22,26,000 27,96,000

 40,62,000 52,80,000  40,62,000 52,80,000

 Depreciation of Rs.3,78,000 was written off for the 
year 2016 on fixed assets.  

 £õ¦ {ÖÁÚzvß 2015 ©ØÖ® 2016 B® BsiØPõÚ 

{v{ø» AÔUøP  RÌ öPõkUP¨£mkÒÍx. 

C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ 2015 

¹. 

2016 

¹. 

ö\õzxPÒ 2015 

¹. 

2016 

¹. 

ö\¾zxuØS›¯ 

©õØÖ^mk 

4,52,000 6,28,000 öμõUP® 1,06,000 62,000

PhÜ¢÷uõº 8,26,000 12,54,000 •u½k 1,74,000 –

Á[Q Phß 2,00,000 4,70,000 PhÚõÎPÒ 6,92,000 10,56,000

Põ¨¦® 

ªSv²® 

13,84,000 17,28,000 \μUQ¸¨¦ 8,64,000 13,66,000

£[S ‰»uÚ® 12,00,000 12,00,000 {Pμ 

{ø»¯õÚ 

ö\õzx 

22,26,000 27,96,000

 40,62,000 52,80,000  40,62,000 52,80,000

2016& B® BsiØPõÚ ÷u´©õÚ® ¹. 3,78,000. 

Cuß Ai¨£øh°À {v |h©õmh AÔUøP u¯õº 

ö\´P. 
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12. Sudeesh & Co. Ltd., furnishes its Balance sheet 

for the years 1999 and 2000 and request you to 

prepare a comparative balance sheet for those 

years. 

Balance Sheets 

Liabilities 1999 

(Rs.) 

2000 

(Rs.) 

Assets 1999 

(Rs.) 

2000 

(Rs.) 

Equity 

share 

capital 

80,000 80,000 Land and 

Buildings 

80,000 74,000

8% 

Debenture

s 

80,000 90,000 Plant and 

Machinery 

60,000 54,000

Retained 

Earnings 

40,000 49,000 Furniture 20,000 28,000

Sundry 

creditors 

50,000 70,000 Inventory 40,000 60,000

Bills 

payable 

10,000 15,000 Debtors 40,000 80,000

  Cash 20,000 8,000

 2,60,000 3,04,000  2,60,000 3,04,000
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 _wè & ¼ªöhm Cß 1999 ©ØÖ® 2000 B® 

BsiØPõÚ C¸¨¦ {ø» SÔ¨¦PÎÀ C¸¢x, 

J¨¤mk C¸¨¦ {ø» SÔ¨ø£ u¯õº ö\´P. 

C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦PÒ 1999 

(¹.) 

2000 

(¹.) 

ö\õzxPÒ 1996 

(¹.) 

2000 

(¹.) 

÷|ºø© £[SPÒ 80,000 80,000 {»® ©ØÖ® 

Pmih® 

80,000 74,000

8% Phß £zvμ® 80,000 90,000 C¯¢vμ® 60,000 54,000

CÖzv øÁUP£mh 

Á¸Áõ´ 

40,000 49,000 AøÓP»ß 20,000 28,000

£Ø£» PhÜ¢÷uõº 50,000 70,000 \μUS 40,000 60,000

ö\¾zxØS›¯ 

©õØÖ^mk 

10,000 15,000 PhÚõÎPÒ 40,000 80,000

   öμõUP® 20,000 8,000

 2,60,000 3,04,000  2,60,000 3,04,000

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Corporate Secretaryship 

PRINCIPLES OF HUMAN RESOURCE 

MANAGEMENT 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the characteristics of Human Resource 
Management. 

 ©ÛuÁÍ  {ºÁõPzvß £s¦PøÍ ÂÁ›. 

2. What is Test? Explain the different types of test. 

 ÷\õuøÚ  GßÓõÀ GßÚ? ÷\õuøÚ°ß £À÷ÁÖ 

ÁøPPÒ ¯õøÁ? 

 UG–235 BCS–35
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3. Differentiate between Theory X and Theory Y. 

 Theory X ©ØÖ® Theory Y EÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 

4. Discuss the advantages of piece wage method. 

 xsk Fv¯ •øÓ°ß |ßø©PÒ £ØÔ TÖ. 

5. Explain the objectives of collective bargaining. 

 Tmk ÷£μ® ÷£_® ÷|õUP[PÒ GßÚ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the problems faced by the trade union 
movement in India. Suggest remedies. 

 C¢v¯õÂÀ öuõÈØ\[P C¯UP® GvºöPõÒÐ® 

¤μa]øÚPøÍ ÂÍUSP. wºÄPøÍ £›¢xøμUPÄ®. 

7. Explain the various causes of employee 
grievances. 

 FÈ¯ºPÎß SøÓPÐUS EÒÍ £À÷ÁÖ PõμoPÒ 

¯õøÁ? 

8. Discuss the important methods of appraising the 
performance of employees. 

 £o¯õÍºPÎß ö\¯ÀvÓøÚ ©v¨¤kÁuØPõÚ 

•UQ¯©õÚ •øÓPÒ £ØÔ ÂÁõvUPÄ®. 
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9. Explain the various factors that influences human 
resources planning. 

 ©ÛuÁÍ vmhzøu £õvUS® £À÷ÁÖ PõμoPÒ 

¯õøÁ? 

10. Describe the various sources of recruitment. 

 Bm÷\º¨¦UPõÚ £À÷ÁÖ Buõμ[PøÍ TÖP. 

11. Discuss the various steps involved in the process 
of career planning. 

 öuõÈÀ vmhªhÀ ö\¯À£õmiÀ Dk£mkÒÍ 

£À÷ÁÖ |hiÁUøPPøÍ Gkzx TÖ. 

12. Define Motivation. Discuss the importance of 
motivation. 

 E¢xuÀ Áøμ¯Ö. E¢xu¼ß •UQ¯zxÁzøu £ØÔ 

ÂÁõv. 

 

—————— 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2019. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Economic Order Quantity? How it is 
computed? 

 ]UPÚ öPõÒ•uÀ Bøn GßÓõÀ GßÚ? Ax 

GÆÁõÖ PnUQh¨£kQÓx? 

2. Calculate cost of production from the following 
detail : 

     Rs. 
 Direct material  20,000 
 Direct labour  8,000 
 Direct Expenses  1,000 
 Factory expenses 3,000 
 Administrative expenses 2,000 

 UG–233 BCS–33/
  BBCA–33
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 RÌ öPõkzxÒÍ Â£μ[PøÍU öPõsk 

AhUPÂø»ø¯ PnUQkP. 

     ¹. 

 ÷|μiU öPõÒ•uÀ 20,000 

 ÷|μiU T¼   8,000 

 ÷|μi ö\»ÄPÒ  1,000 

 öuõÈØ\õø» ö\»ÄPÒ 3,000 

 {ºÁõP ö\»ÄPÒ  2,000 

3. What are the various methods of pricing material 
issue? 

 ‰»¨ö£õ¸Ò Âø» Cku¼ß £À÷ÁÖ •øÓPÒ 

¯õøÁ? 

4. State the reasons for variation in Profits shown by 
Cost accounts and Financial accounts. 

 AhUP Âø» PnUQØS® {v PnUQ¯¾US® EÒÍ 

÷ÁÖ£õmiØPõÚ Põμn[PøÍ SÔ¨¤kP. 

5. Data relating to a job are as under : 

 Standard rate of wages per hour : Rs.10 

 Standard hours – 300 

 Actual rate of wages per hour : Rs.12 

 Actual hours – 200 
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 You are required to calculate : 
 (a) Labour cost variance 
 (b) Labour rate variance 
 (c) Labour efficiency variance. 
 RÌ öPõkzxÒÍ J¸ £o \®£¢u©õÚ Â£μ[PÒ : 

 uμ ÷|μ Ãu® : ¹.10 
 uμ Põ»® – 300 ©oPÒ 
 \›¯õÚ T¼ Âu® : ¹.12 per hour 
 GkzxU öPõsh Põ»® – 200 ©oPÒ 
 PnUQkP : 

 (A) EøÇ¨¦ AhUP ÷ÁÖ£õk 

 (B) EøÇ¨¦ Ãu ÷ÁÖ£õk 

 (C) EøÇ¨¦ vÓø© ÷ÁÖ£õk 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Calculate labour cost for the month of July 
relating to the workman from the following : 

 Basic pay Rs.200 p.m. 
 D.A. Rs.150 p.m. 
 Employer’s contribution to State Insurance 6% of 

Basic plus DA 
 Fringe benefits Rs.100 per mensum 
 Employee’s contribution to provident fund 5% of 

basic and DA 
 Employee’s contribution to State Insurance and 

Provident fund is equal to that of employer. 
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 £o¯õº J¸Á›ß áúø» ©õuzvØPõÚ EøÇ¨¦ 

AhUPzvøÚ PnUQhÄ® : 

 Ai¨£øh \®£Í® : ¹.200 p.m. 

 £g\£i : ¹.150 p.m. 

 £o AÎ¨£Á›ß Põ¨¥k £[PÎ¨¦ : 6% (Ai¨£øh 

\®£Í® + £iPÒ) 

 ÷©À Buõ¯® : ¹.100 p.m. 

 ÷\© |» {vUS £[PÎ¨¦ £o¯õÍ›ß \®£Í® + 

£iPÎÀ 5% 

 £o AÎ¨£Á›ß £[PÎ¨¦ ÷\©|» {v ©ØÖ® 

Põ¨¥k Cμsk® ÷\º¢u öuõøP BS®.  

7. From the particulars prepare the store ledger 
showing the pricing material issue, by adopting 
FIFO method, First-In-First-Out with base stock 
of 400 units out of Opening stock 

 2000  
Dec 1 Opening stock 1000 units at Rs.2 each 

  3 Purchased 800 units at Rs.2.10 each 

  5 Issued 800 units 

  12  Purchased 1600 units at Rs.2.10 each  

  17 Issued 1500 units 

  20 Purchased 900 units at Rs.2.50 each 

  25 Issued 600 units. 
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 FIFO •øÓ°À ‰»¨ö£õ¸Ò ÷£÷μk u¯õ›UPÄ®. 

EÒ•uÀ öÁÎ •u¼ß Ai¨£øh°À Bμ®£ 

\μUQ¸¨¦ 400 A»SPÒ : 

 2000  
i\®£º 1 öuõhUP \μUQ¸¨¦ 1000 A»SPÒ  

  ¹.2 Ãu® 

  3 öPõÒ•uÀ 800 A»SPÒ ¹.2.10 

  5 öÁÎ±k 800 A»SPÒ 

  12  öPõÒ•uÀ 1600 A»SPÒ ¹.2.10  

  17 öÁÎ±k 1500 A»SPÒ 

  20 öPõÒ•uÀ 900 A»SPÒ ¹.2.50  

  25 öÁÎ±k 600 A»SPÒ. 

8. The sale and profit for 1996 and 1997 are as 
follows : 

    Sales  Profit 
      Rs.    Rs. 
  1996  1,50,000 20,000 
  1997  1,70,000 25,000 
 Find out: 
 (a) P/V Ratio 
 (b) BEP 
 (c) Sales for a profit of Rs.40,000 
 (d) Profit for sales of Rs.2,50,000 and 
 (e) Margin of safety at a profit of Rs.50,000.  
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 1996 ©ØÖ® 1997 B® BsiØPõÚ ÂØ£øÚ ©ØÖ® 

C»õ£® öPõkUP¨£mkÒÍÚ 

    ÂØ£øÚ C»õ£® 

      ¹.    ¹. 

  1996  1,50,000 20,000 

  1997  1,70,000 25,000 

 PnUQkP : 

 (A) P/V ÂQu® 

 (B) C»õ£ |mh ©ØÓ ¦ÒÎ 

 (C) C»õ£® ¹.40,000 ØPõÚ ÂØ£õÚ 

 (D) ¹.2,50,000 ÂØ£øÚUPõÚ C»õ£® 

 (E) C»õ£® ¹.50,000 UPõÚ £õxPõ¨¦ £Sv.  

9. The following details were obtained from the 
Tamilnadu Metal Co. Ltd. From these calculate 
the Overhead recovery rates. 

 Methods to be applied. 

 (a) Direct Labour hour 

 (b) Direct Labour Cost 

 (c) Machine hour rate 

  Estimated factory Overheads Rs.58,000 

  Estimated direct labour hours 1,34,600 hours 

  Estimated machine hours 50,000 hours 

  Estimated direct Labour cost Rs.97,500 
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 uªÌ|õk ö©mhÀ {ÖÁÚzvß ÷©Øa ö\»Ä v¸®£ 

QøhUS® \uÂPzøu PnUQkP. 

 (A) ÷|μi EøÇ¨¦ ©oPÒ 

 (B) ÷|μi EøÇ¨¦ AhUP® 

 (C) J¸ ©oUPõÚ ÂQu® 

  vmhªmh öuõÈØ\õø» ÷©Øa ö\»ÄPÒ 

¹.58,000 

  vmhªmh ÷|μi EøÇ¨¦ ©oPÒ 1,34,600  

  vmhªmh G¢vμ ©o ÷|μ® 50,000  

  vmhªmh ÷|μi EøÇ¨¦ AhUP® ¹.97,500 

10. From the following particulars of a manufacturing 

company, prepare a statement showing: 

 (a) Cost Materials used 

 (b) Prime cost 

 (c) Works Cost 

 (d) Cost of Production 

 (e) Percentages of general expenses to works 

cost 
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       Rs. 

  Stock of materials (01.01.2007) 25,000 

  Stock of finished goods (01.01.2007) 51,000 

  Purchase of materials  5,75,000 

  Purchase wages   3,90,000 

  Works Overhead   86,000 

  Office and general expenses 72,000 

  Stock of Materials (31.12.2007) 30,000 

  Stock of finished goods (31.12.2007) 48,000 

  Sale of finished goods  12,20,000 

 RÌ AÎzxÒÍ EØ£zv {Ö©zvß Â£μ[PÎ¼¸¢x 

‰»¨ö£õ¸Ò AhUP®, Ai¨£øh AhUP®, EØ£zv 

AhUP®, EØ£zv AhUPÂø» ©ØÖ® ö£õx 

ö\»ÄPÒ ©ØÖ® EØ£zv AhUP ÂQu[PÒ öPõsh 

AÔUøP u¯õ›UPÄ®. 

       ¹. 

  ‰»¨ö£õ¸Ò 1.1.2007  25,000 

  •ØÖa ö£ØÓ ö£õ¸ÒPÒ 1.1.2007 51,000 

  ‰»¨ö£õ¸Ò öPõÒ•uÀ  5,75,000 

  T¼     3,90,000 
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 ¹. 

  EØ£zv ÷©Øaö\»ÄPÒ  86,000 

  A¾Á»P ÷©Øaö\»ÄPÒ  72,000 

  ‰»¨ö£õ¸Ò 31.12.2007 30,000 

  •ØÖ¨ö£ØÓ ö£õ¸mPÒ 31.12.2007 48,000 

  ÂØ£øÚ    12,20,000 

11. The following information relating to Contract 

No.123. 

      Rs. 

  Contract Price 6,00,000 

  Wages  1,64,000 

  General expenses 8,600 

  Raw materials 1,20,000 

  Plant   20,000 

 As on date, cash received was Rs.2,40,000 being 

80% of work certified. The value of materials 

remaining at site was Rs.10,000. Depreciate plant 

by 10%. Prepare contract account showing profit to 

be credited to P and L a/c. 
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 J¨£¢u Gs 123&UPõÚ ÂÁμ[PÒ R÷Ç 

öPõkUP¨£mkÒÍx 

      ¹. 

  J¨£¢u Âø» 6,00,000 

  T¼   1,64,000 

  ö£õx ö\»ÄPÒ 8,600 

  ‰»¨ö£õ¸mPÒ 1,20,000 

  uÍÁõh[PÒ 20,000 

 ¹.2,40,000 öμõUP® ö£ØÓx (80% £o 

\õßÓÎUP¨£mkÒÍx). £o ChzvÀ «x•ÒÍ 

ö£õ¸mPÎß ©v¨¦ ¹.10,000. uÍÁõh[PÎß 

÷u´©õÚ® 10%. J¨£¢u PnUøP u¯õ›UPÄ®. 
÷©¾® C»õ£ |mhU PnUQØS ©õØÓ ÷Ási¯ 

C»õ£zvøÚ PnUQhÄ®. 

12. From the following information relating to X and 
Co ltd., you are required to find out: 

 (a) P/V Ratio 

 (b) BEP in rupees 

 (c) Profit 

 (d) Margin of safety 

 (e) Volume of sales to earn profit of Rs.6,000. 
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         Rs. 

   Total fixed costs  4,500 

   Total variable costs 7,500 

   Total sales   15,000 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) C»õ£ |mh©ØÓ {ø»¨¦ÒÎ (¹£õ°À) 

 (C) C»õ£® 

 (D) AvP£m\ £õxPõ¨¦ 

 (E) ¹.6,000 »õ£® ÷Áskö©ÛÀ, ÷uøÁ¯õÚ 

ÂØ£øÚ BQ¯ÁØøÓ  X & Co Ltd., UPõP 

PnUQkP 

         ¹. 

   ö©õzu {ø»aö\»ÄPÒ 4,500 

   ö©õzu ©õÖ® ö\»ÄPÒ 7,500 

   ö©õzu ÂØ£øÚ  15,000 

  

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

Third Year 

Corporate Secretaryship 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Distinguish between assessment year and 
previous year. 

 {v Bsk ©ØÖ® Á›Âv¨¤ØS›¯ Bsk 

÷ÁÖ£kzxP. 

2. State any five exempted house property Incomes. 

 Â»US AÎUP¨£mh H÷uÝ® I¢x Ãmk Á¸©õzøu 

SÔ¨¤kP. 

3. What are the expenses disallowed in computation 
of business Income? 

 Â¯õ£õμ Á¸©õÚ® PnUQk® ÷£õx ©ÖUPUTi¯ 

ö\»ÄPÒ ¯õøÁ? 
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4. What are the kinds of capital assets? 

 •uÀ ö\õzxUPÎß ÁøPPÒ ¯õøÁ? 

5. What is gross total Income? 

 Bsk ö©õzu Á¸©õÚ®  GßÓõÀ GßÚ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Income details of Thirumurugan for the financial 

year 2018-2019 follows: 

 (a) Salary Rs 5,000 p.m 

 (b) D.A Rs 2,000 p.m 

 (c) Entertainment allowance Rs 300 p.m 

 (d) Empolyers contribution to RPF Rs. 7,900 p.a 

 (e) Interest credited to RPF @ 9.5% Rs 1,000 

 (f) City compensatory allowance Rs 150 p.m 

 (g) Medical allowance Rs 100 p.m 

 (h) HRA Rs 600 p.m (rent paid Rs 750 pm) 

Calculate salary income for the  

A.Y 2019–2020. 
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 2018–2019 {v BsiØPõÚ Â£μ[PøÍ öPõsk 

v¸ •¸PÛß Á¸©õÚzøu PnUQkP. 

 (A) \®£Í® ¹.5,000 p.m 

 (B) £g\ £i ¹.2,000 p.m 

 (C) ö£õÊx ÷£õUS £i ¹.300 p.m 

 (D) £o AÎ¨£Á›ß RPF-ØS £[PÎ¨¦ ¹.7,900 

p.a 

 (E) RPF-À ö£ØÓ Ámi 9.5% ¹.1,000 

 (F) |Pμ Dmk £i ¹.150 p.m 

 (G) ©¸zxÁ £i 100 p.m. 

 (H) HRA ¹. 600 ©õu® JßÖUS (ÁõhøP 

ö\¾zv¯x ¹.750 ©õu® JßÖUS)  

  2019–2020 ©v¨¥mhõsiØUPõÚ \®£Í 

Á¸©õÚzøu PnUQkP.  

7. From the particulars given below compute income 
from house property for the assessment year : 

 2019-2020 
 Date of Completion 1.11.92 
 Municipal rental Value : Rs  36,000 
 Fair rental Value : Rs 30,000 
 Self occupied : 2/3 portion 
 Let out portion: 1/3 portion from 1.4.2018 to 

31.8.2018 at Rs.1,000 p.m and self-occupied from 
1.9.2018 onwards. 

 Municipal tax Rs. 3,000 p.a. 
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 Fire insurance premium Rs.2,400 p.a. 

 Ground rent Rs. 4,200 p.a. 

 Interest on loan Rs. 7,500 p.a 

 2019–2020 BsiØPõÚ ÂÁμ[PøÍ öPõsk Ãmk 

Á¸©õÚzøu PnUQkP. 

 •iUP¨£mh |õÒ : 1.11.92 

 |Pμõm] ©v¨¦ ¹.36,000 

 \›¯õÚ ÁõhøP ©v¨¦ ¹.30,000 

 uß £¯ß£õk :2/3 £Sv 

 1/3 £Sv ÁõhøPUS 1.4.2018 •uÀ 31.8.2018 Áøμ 

¹.1,000 zvØS P.M Âh¨£mkÒÍx. Auß ¤ÓS 

1.9.2018 •uÀ uß £¯ß£õmiØS GkzxU öPõshx. 

|Pμõm] ÁõhøP ¹.3,000 p.a. 

 w Põ¨¥k ¹.2,400 p.a. 

 uμ ÁõhøP ¹.4,200 p.a. 

 Phß «uõÚ Ámi ¹.7,500 p.a. 

8. From the following P & L a/c calculate income 
from business for the assessment year 2019- 2020. 

 Rs.  Rs. 
To rent and rates 45,000 By gross  
To dept on machinery 8,000 profit 2,25,000
To dept on furniture 2,000 By income  
To purchase   from the  
of motor car 50,000 other source 1,25,000



 UG–232 5

 Rs.  Rs. 
To Car expenditure 3,000 By income from 
To advertisement (cash) 25,000 capital gain 1,00,000
To net profit 4,67,000 By miscellaneous 
  income 1,25,000
 6,00,000  6,00,000

 (a) Allow Rs. 5,000 as depreciation on 
machinery 

 (b) 50% of motor car expenses relates to 
personal use 

 (c) Miscellaneous receipt is approved by  
I. T. authority as business income 

 (d) Motor car has no depreciation. 

 2019–2020 BsiØPõÚ Â¯õ£õμ Á¸©õÚzøu RÌ  

öPõkzxÒÍ C»õ£ |mhU PnUøPU öPõsk 

u¯õ›UPÄ®. 

C»õ£ |mh P/S 

 Rs.  Rs. 
ÁõhøP ©ØÖ® Ámi 45,000 ö©õzu C»õ£® 2,25,000
G¢vμ ÷u´©õÚ® 8,000 Cuμ Á¸©õÚ® 1,25,000
©øÚzxøn ö£õ¸Ò   ‰»uÚ  

«uõÚ ÷u´©õÚ® 2,000 Á¸©õÚ® 1,00,000
PõºU öPõÒ•uÀ 50,000 £Ø£» Á¸©õÚ® 1,25,000
Põº ö\»ÄPÒ 3,000  
ÂÍ®£μ® (öμõUP©õP) 25,000  
{Pμ »õ£® 4,67,000  
 6,00,000  6,00,000
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 (A) G¢vμzvß «uõÚ ÷u´©õÚ® ¹.5,000 

 (B) 50% Põº ö\»ÄPÒ uß £¯ß£õmiØSPõÚx 

 (C) £Ø£» Á¸©õÚ® Â¯õ£õμ Á¸©õÚ I.T. 
AvPõ›¯õÀ J¨¦U öPõÒÍ¨£mhx 

 (D) Põº «uõÚ ÷u´©õÚ® £ØÖ øÁUP¨£hÂÀø». 

9. The following are the incomes received by Ramya 
during the assessment year 2019-2020. 

 Rs. 
Director fees 6,000 
Income from agricultural land in Pakistan 40,000 
Interest on postal savings bank a/c 1,500 
Interest on fixed deposit 1,800 
Winnings from lotteries (gross) 50,000 
Royalty on books (expenses 4,000) 20,000 
Crossword puzzle prize 2,500 

 Compute income from other sources. 

 2019–2020 BsiØPõÚ  μ®¯õÂß Á¸©õÚzøu 

PnUQkP. 

 Rs. 
C¯US|º Pmhn® 6,000 
£õQìuõÛÀ EÒÍ ÂÁ\õ¯ {»zvß «uõÚ Á¸©õÚ® 40,000 
u£õÀ ÷\ª¨¦ Á[Q PnUS «uõÚ Ámi  1,500 
{μ¢uμ øÁ¨¦ «uõÚ Ámi 1,800 
»õmh› «uõÚ Á¸©õÚ® ö©õzu Á¸©õÚ® 50,000 
¦zuP «uõÚ μõ¯Ài Á¸©õÚ® (ö\»ÄPÒ 4,000) 20,000 
SÖUS GÊzx ÷£õmi 2,500 

 Cuμ Á¸©õÚzøu PnUQkP. 
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10. Calculate the taxable income of Mr. Anbu from the 
following if the gross total income is Rs 2,50,000 

 Life insurance premium of Mrs. Anbu Rs 900 

 Contribution toward LIC pension fund Rs 1,000 

 Medi Claim insurance Rs 10,000 

 Expenditure on medical treatment for disabled 
relative Rs. 14,500 

 Donation to Indian army Rs 5,000. 

 Donation to government of India for family 
planning Rs 25,000. 

 v¸. Aß¦ Gß£Á›ß Bsiß ö©õzu Á¸©õÚ® 

¹.2,50,000 BP C¸US® ÷£õx AÁ›ß 

Á›Âv¨¤ØS›¯ Á¸©õÚzøu RÌPsh Â£μ[PøÍ 

öPõsk PnUQkP. 

 Aß¦ «uõÚ B²Ò Põ¨¥k «uõÚ öuõøP ¹.900 

 LIC ö£ß\ß£sk «uõÚ £[PÎ¨¦ ¹.1,000 

 ö©iU QøÍ® Põ¨¥k ¹.10,000 

 FÚ•Ø÷Óõ›ß ]Qaø\ öuõhº£õÚ ©¸zxÁ 

ö\»ÄPÒ ¹.14,500 

 C¢v¯ £õxPõ¨¤ØPõÚ |ßöPõøh ¹.5,000 

 C¢v¯ Aμ_ AÎzu Sk®£|» vmhzvØPõÚ 

|ßöPõøh ¹.25,000. 

—————— 
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SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  What are the objectives of Business finance? 
 Â¯õ£õμ {v°ß ÷|õUP[PÒ ¯õøÁ? 

2.  State the major sources of long term finance. 
 }shPõ» {v°ß ÷©»õÚ Buõμ[PøÍ SÔ¨¤kP. 

3. What are the factors determining capital 
structure? 

 •uÀ Aø©¨¤ß wº©õÛUS® PõμoPÒ ¯õøÁ? 

4. What is meant by receivables management? 
 ë–Ëuμ ì©°êsí© GßÓõÀ GßÚ? 

5. What do you mean by dividend? 
 £[Põuõ¯® GßÓõÀ GßÚ? 

 UG-231 BCS-31/BAF-31
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the merits of debentures. 

 PhÜmk £zvμ[PÎß |ßø©PøÍ ÂÍUSP. 

7. Discuss the net operating Income approach to 

capital structure. 

 •uÀ Aø©¨¦ {Pμ ö\¯À Á¸©õÚ ÷Põm£õmøh 

ÂÁ›. 

8. Explain types of Leverages. Explain its 

significance. 

 ö|®¦÷Põ¼ß ÁøPPøÍ ÂÍUSP. AÁØÔß 

•UQ¯zxÁzøu ÂÍUSP. 

9. Explain the factors determining the working 

capital requirements of a firm. 

 {v {ÖÁÚzvß |øh•øÓ •uÀ ÷uøÁø¯ 

wº©õÛUS® PõμoPøÍ ÂÍUSP. 

10. Discuss the factors that influence the dividend 

policy of a firm. 

 £[Põu¯ öPõÒøP°øÚ £õvUS® PõμoPøÍ ÂÁ›. 
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11. Briefly explain the MM approach of the concept of 
Dividend. 

 £[S Buõ¯ P¸zvØPõÚ G®G® AqS•øÓø¯ 

_¸UP©õP GÊxP. 

12. Analyse the different functions of finance. 

 {v°ß £À÷ÁÖ £oPøÍ¨ £S¨£õ´P. 

 

––––––––––––––– 




